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HAIEE K& 5,000 8,850 AN 3,850
201 et d| 5,000 5,000 0
03 A2 Y| 5,000 5,000 0
O&tE A QiSO &AL 5,000,000 *13] 5,000
NEZFEHRY 620,900 477,880 143,020




AN D
M OO0E AEE
SR EEE B (29l & 2)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
AARFUSJAMSIH 620,900 477,880 143,020
201 £B-2d| 5,000 5,000 0
01 At 22l 5,000 5,000 0
oMol S2=+7 € T2otd RALE+ Ul
NE=d 500,000& *2CH 5 5,000
401 AIEHIZ 28I 615,900 472,880 143,020
01 A& Hl 612,000 470,000 142,000
og51el o222 T 2 i+==2 FHISA
100, 000& *400m 40,000
OEF2el =2 ZEIAM 100, 000& *400m 40,000
O=g1el o2t ZulS A 100,000 *400m 40,000
Os82e =22% % == JHI3AM
100, 000& *400m 40,000
OUE1e ot2etd 2 Y =2 ZFHISA
100, 000& *400m 40,000
oxeel =2 HH ¥ s2XZ& A
100, 000 & *400m 40,000
oO&F&2e =2 dHl L =2 ZE S At
100, 000& *400m 40,000
Oddtiel s2EZEH I At 100, 000& *400m 40,000
Od43el =2 & 2 =2 FHISA
100, 000& *400m 40,000
OUE22 s EZHIA 100, 000& *300m 30,000
O4d4at1el 02t U3 A 100,000& *200m 20,000
OH4t2e] s EEHIA 100, 000& *200m 20,000
Og&IZiel g2 FHISA
100, 000& *200m 20,000
OgalZiel otttz HHIZA
100, 000& *200m 20,000
OgaZ3el otttz Ul ZA
100, 000& *420m 42,000
O Z2e =2 LY IA 100, 000& *200m 20,000
oFeHel == EHHIZAt 100, 000& *200m 20,000
o&z1el =2 FUISA 100,000 »200m 20,000
OZ= HCHHEAY 5,000,000 *8H 2 40,000
03 Al S THHI 3,900 2,880 1,020
O A& 2| 619,000, 000& *0.63/100 3,900
DU HF2H 2 142,858 139,915 2,943
Jl=3l 142,858 139,915 2,943
2 B2 142,858 139,915 2,943
201 L2l 88,100 81,070 7,030
01 At 22l 41,620 34,590 7,030
O g+t 20,120




2H: D

Bu: D00 #I2ARY)
Ee: I3 (&2 &)
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
OZANESA L AIRES2L  500,000& %103 5,000
ONSE FURH A28 79 L 248X
500,000& 103l 5,000
Os =5 X &yl 50,000& *503] 2,500
Oodng & X 52 13,000& x 102 x12& 1,560
O&m ¥ AFE HE 100,000& 1504 1,500
OLZE2IM L U2 8 100,0008 *122 1,200
OBBHHIE a2 2 AX 7
50,000& x2&+12& 1,200
O&£D|, Hd Xz 180,000& x12& 2,160
o2ds¢ 15,260
O A 60,000& *1H*130 7,800
Oz 20,000 1 »235& 4,700
ONZHIAZRERNEY 60,000 x46L 2,760
O] 8,000& x 13 60 6,240
02 3524t 46,480 46,480 0
02222 2 MA 25,540
o2 300,000& ~12& 3,600
OEIL2(HAN, X332, MOISE2s =2
ESCIPSEND) 1,500,000& «12& 18,000
OFANROAHSE 2 150,000& ~12& 1,800
ogsg2e = 165,000& = 12& 1,980
OXEHIHAZ 80,000& x2CH 13| 160
O " ZHl 1,100& *1,000¢ =5& 5,500
OAEEEI SN (HA(FOUXNINEH) & =X
3l &) 1,000, 000& «8& 8,000
O Xt& o ery| 7,440
Oxg S50 1,500 x1404 *2CH*12& 5,040
OXNEFHEBISAH € A2EH|
300,000& *2CH x4 3] 2,400
202 044l 32,838 33,845 A 1,007
01 2L Y| 1,950 2,957 AN 1,007
oOZA&=&0 Y| 50,000& *13Y 33| 1,950
02 20| 30,888 30,888 0
O& ¥l 30,888
oJls 138,000& 13 x12& 21,528
OJbaH 60,0003 *13H x12& 9,360
203 ¥R =AY 10,920 10, 120 800
01 J| 2 2L L R=XH| 6,600 6,600 0
OJ|H2dIRF&Y| 6,600,000& x1H 6,600
02 HJAJPAHFFAH| 720 520 200
OFIAINNMAR =Y 40,000& 18 720
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= o
N £ 0 & 23 H A A
20188 = =0l & LB A JIEISESIH, SILSESH &4 23S
SN 2o
Bu: H20 AQAY
el EOIMEHO A4 (B9 ®R)
_ (o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SHEH 894,037 883,035 11,002
AFH AHZ ZHI 729,541 720,549 8,992
=olMEEe gt 487,301 542,529 Ab55,228
TE2H 222 59,541 45,326 14,215
101 @14 dl 16,041 12,326 3,715
4 D12t ZE2XREES 16,041 12,326 3,715
OE2H M= ¥ JtZ2stE 22l 22
71,6083 x10Y 20 14,322
0LYF =8 HA UL HENY
71,6083 x4H x63] 1,719
206 M= Hl 43,500 33,000 10,500
01 MHZ 4l 43,500 33,000 10,500
o022 ¢ I 248 =stF 2¢
500& *20,0002 10,000
otHlg & dols &35 ¢ 500,000& *33] 1,500
o2 s 7Y 3,000,000& »23| 6,000
OMOIE JtZ2std & 22X 4d
500& 12,0002 6,000
OHRX&Eel 25U ¢ 100, 000 & 200 20,000
FZs a3 ae 14,793 9,395 5,398
101 @124l 8,593 7,395 1,198
04 JI12ZtHZ22HEE = 8,593 7,395 1,198
OUS, HDE S X B =Y
71,6083 x6H 202! 8,593
206 M= Hl 1,200 2,000 A 800
01 MHZ 4l 1,200 2,000 A 800
OBTX L T2Y S FASE 7
300,000 43 1,200
401 Al HIZ 201 8] 5,000 0 5,000
01 A& HI 5,000 0 5,000
OAH=0t= tie FHl 500,000& =104 5,000
A2AIFU=JAAMY XA 412,967 487,808 AT4,841
401 AIEHI L 20 412,967 487,808 AT4,841
01 A& HI 410,000 485,000 275,000
Os&1el otAax2 IMLI| A
100, 000 & *200m 20,000
Os&2el O0tAZ IMLI| A
100, 000 & *200m 20,000
Oafstiel =2 EHHIS A 100, 000& *200m 20,000
o&st2el E+2 HHISA 100, 000& *200m 20,000
O&fst3el === EHHIS A 100, 000& *200m 20,000




SN 2o
Bu: H20 AQAY
el EOIMEHO A4 (B9 ®R)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ods1el Etl==2 HHIAY 100, 000& *200m 20,000
oys22 Jt=de E ZESAM
100, 000& *200m 20,000
Oa =32l == HHISA 100, 000& *200m 20,000
O&=4el == EHHISA 100, 000& *200m 20,000
o&LNe1e =2 EHIS A 100,000& »200m 20,000
OF&2e| OtAZ IMI| SA
100, 000& *200m 20,000
OFDE3e =2 EHIA 100, 000& *200m 20,000
OuZiel == HHISA 100, 000& *200m 20,000
On=zzel otAaxd IMLI| BA
100, 000& *200m 20,000
Ow=xz3el otAaxd IMLI| ZA
100, 000& *200m 20,000
OxeE1el =2 EZHIA 100, 0002 *200m 20,000
Ox=t&2e =2 EZHEIA 100, 000 & *200m 20,000
OHXZ1el 52 ZZSA 100, 000& *200m 20,000
OHXE2el =2 Z& 2 == FHISA
100, 000& *200m 20,000
OMOISE23 X4 24 & 01d
10,000, 000& * 13| 10,000
OZ =8t LAY 2,000, 000& =104 & 20,000
03 A2 S THHI 2,967 2,808 159
OAIE S HHI 412,000,000& *0.72/100 2,967
EARA 22 168,400 107,600 60,800
HEE FAEE =4 1,200 52,400 A 51,200
206 = Hl 1,200 2,400 A1,200
01 =8l 1,200 2,400 A 1,200
OHEAN BAES 7¥ 100,000& = 12& 1,200
FURXAEE 29 54,000 55,200 A 1,200
201 ¢er24] 36,000 37,200 A 1,200
01 At 22/l 36,000 37,200 A1,200
OFQXXHE 224l 400,000 x12& 4,800
OFUXXAE2 Il &+
50,000 30 «12& 18,000
OFQUNKAS AAES B2
50,000& 30 42 6,000
OFUNXAAS U - 2alo Bu4+Y
20,0002 30 «12& 7,200
301 et a = 18,000 18,000 0
MIIEEd=3 18,000 18,000 0
OFLUXXEE 2 A=
300,000& x5t = +12& 18,000




SA: M2
HM: 420

o Ui}

el EARX 2tel (=& J)
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
A2 103,200 103,200
201 103,200 103,200
01 6,000 6,000
U =AEX 7Y
200,000& 122 2,400
100,000& = 12& 1,200
E Y 2 24K
200,000& = 12& 2,400
02 97,200 97,200
AU =
500,000& »12& 6,000
Adts+E S)
6,000,000& x12& 72,000
CHedHl 600,000 128 7,200
200,000& »12& 2,400
b CHe8 I
200,000& »12& 2,400
300,000& »12& 3,600
=& 2l
300,000& »12& 3,600
AHaHH S HI 10,000 10,000
405 Xt 10,000 10,000
01 Xt 10,000 10,000
X 2 200,000& 504 10,000
HE X 73,840 7,620
scolE e 66,220 0
301 66,220 0
05 8% -0 -tHESEHS 66,220 0
Oo0l&==¢ 62,320
OPIR--E =y 200,000& 19 x12& 45,600
Oa0= 200,000& x19E +23| 7,600
O3g&Easg 20,0003 x1998 x23| x 128 9,120
ot =¢ 50,0003 78 13| 3,900
sctdas 243 3,420 3,420
301 L2 A=z 3,420 3,420
1MIIEESS 3,420 3,420
O 0l& s4ldl 15,0003 x19H 123 3,420
== QI & Ofl AF 4,200 4,200
201 4,200 4,200
01 A2 4,200 4,200
70,0003 309 *23| 4,200
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SN 2o
FM: A28 HFY2H |
& 123l (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
A28 HdHE2A AL 164,496 162,486 2,010
Jl=&l 164,496 162,486 2,010
2Bt G| 157,896 162,486 A 4,590
201 Let24d] 99,680 98,691 989
01 At 2teltl 49,900 44,111 5,789
(©F= SN 60,0003 x 1 128 7,680
oMz 20,0003 x 1 x246 4,920
O4t=Hl& 224 =& 60,0003 46 2,760
O= &l 8,0003 x16YH x60 7,680
OAxEsE20N & e R 300,000& *43] 1,200
oKtz & HIZ=Z 13,000& 102+ 12& 1,560
ool & &M 70,000 200K 1,400
OSZFHIE stz & A7
50,0003 *4J4 x53] 1,000
O&F=J| &2yl 50,0003 *4CH 123 2,400
O+ & 2-e M 50,0003 3o 122 1,800
OMRE H&FEH 228 7Y £ =48 |1
500,000& x12& 6,000
O=AMEXN L MRESZ 7€ 500,000 128 6,000
oMol S ==+ HH X2
550,000& 10 5,500
02 8322l 49,780 54,580 A 4,800
oORER= 600,000 »12& 7,200
OFAL ReldH 89 150,000& = 12& 1,800
OFEA Aot 2e 24 400,000& *4= 2| 1,600
O&AN ABotdze A 330,000& 4= 2| 1,320
O Xt& & Byl 11,360
oxg =&MU 1,500& 1404 *3CH+123 7,560
OxgdEHsXH ¥ 2254
300,000& +3CH 43 3,600
OXsx EIIZEA 200,000& *13] 200
Ods & dxk =3 100,000& =12 1,200
OHEA IS 800,000& »12& 9,600
OME= HOIESZE MIIRS 500,000&«12& 6,000
OEVEdEA HIIea & 2EMER
100,000& =128 1,200
OAl& 2eldl 8,500
Og=dl 1,100 *1,0004 *5& 5,500
OA & EHl SX bl 250,000& =122 3,000
202 O4dl 40,416 41,655 21,239
01 S LHAYI 2,400 3,639 A 1,239
O=2A=Z NI 50,000& 16 *32] 2,400
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= o
A & 0l & AF 2 E A A
2018 & =20l LBHSIH L IIEISESIH, IS8 895 ~ R3S
M WESKH
3 HSXHAS B
S HsXY FARX 22l (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
s X 870,240 812,014 58,226
S X AHS ZHI 731,282 679,419 51,863
s X EASX 2el 4,100 4,600 A 500
AN BB3XH 4,100 4,600 A 500
201 L2l 3,600 3,600 0
01 At 22l 3,600 3,600 0
OFAN BAESE S 42d 23 74
300,000& x12& 3,600
206 M= Hl 500 1,000 A 500
01 M2 4l 500 1,000 A 500
OBAMN HR AE22UH (AR, FAE S)
50,000& x10& 500
HHXNH 2F 44,420 42,260 2,160
SclBEEsI 44,420 42,260 2,160
301 et d = 44,420 42,260 2,160
05 S& -0 -2 42,260 42,260 0
OoSclEtEEsEaS 39,360
Oo0l&E=+=< 200,000& x12H x12& 28,800
O&0u= 200,000& 12 x23| 4,800
Ozl 20,0003 x12H #2353 x 128 5,760
Ot =g 50,0003 58 13| 2,900
MIIEEES 2,160 0 2,160
o0 Stea 15,000& 12 128 2,160
YPHEE H BFxH 21,626 20,229 1,397
TEH 222 20,026 18,629 1,397
101 1Al 10,026 8,629 1,397
04 JI2ZtHZ22HEE = 10,026 8,629 1,397
OE2H M= ¥ JtZ23EH, S&2 2el 98
2 71,6083 x7H x202! 10,026
206 = Hl 10,000 10,000 0
01 MHZ 8l 10,000 10,000 0
022 & JIZsE 248 =stF ¢
500& *16,0002 8,000
otz & dols &35 ¢ 1,000, 000& *23| 2,000
IR #F e 1,600 1,600 0
201 2et24d] 1,600 1,600 0
01 At 2teltl 1,600 1,600 0
o3 224 =357Y ¥ RA2a
250,000 & *4JH 2 1,000




SA SR
Mo IS XA |

Gl B RE O BAXA ECR-E)
SA-HB .Y (BH) - MBPAY - B2 O 4t 0t SSa HDS2
| | OAIIX HAEE 7Y 50,0008 » 12 600
S XH AKX 9,000 11,450 N2,450
HAL 25 K& 9,000 11,450 A2,450
201 LEt2 9| 9,000 9,000 0
03 #HAF2 S HI 9,000 9,000 0
OXR A A0l HEOl A
3,000,000& x13] 3,000
OFHU0| HEXNHD iR A
6,000,000& x13] 6,000
NS 580,636 535,880 44,756
AR SFUSAAIS XA 580,636 535,880 44,756
401 Al B 20| 580,636 535,880 44,756
01 Al& HI 577,000 533,000 44,000
OXZ2l AMK OFAZHM S| B A
100, 000-& *500m 50,000
OME1E s EZESAM 100,000& *400m 40,000
OAtd22] S HBAHEH) 100, 000& *200m 20,000
OXAN2 s2EZE3A 100,000& *300m 30,000
OZ0l1el Hi==2 ZHISAt 100, 000-& *300m 30,000
O0%0/22] s Z&3A 100,000& *400m 40,000
OF&Hel == JHISA 100,000& *100m 10,000
OFAHe s EZE 3 A 100,000& =100m 10,000
OF&2e s EZESAL 100, 000& *200m 20,000
OF&H22] OFAE SIM S| BAF
100,000& *100m 10,000
O&F2 == FHISA 100,000& *400m 40,000
O0t=2l Dt=otd HHlIS AL 100,000& *100m 10,000
O0ts2l =2 FHISAt 100,000& *=100m 10,000
O&H2 =2 HHISA 100, 000& *200m 20,000
O8N =2 ZH3A 100, 000-& *200m 20,000
ELZ2 OrAZHE M2 S A 100,000 *200m 20,000
OFXE2 =2 ZHIA 100, 000-& *200m 20,000
Ox0l22l 22Y HIIIHAIA 100,000& *200m 20,000
OArd22] OtAZ MR 100,000& *250m 25,000
OxZc2 &XY AE2Z 22,000,000 14 4 22,000
O=XE2| OtA2EE I AL 100, 000& *250m 25,000
OArd22] OtAZZE S AL 100, 000& *200m 20,000
O%0lel 82 SA 100, 000& *250m 25,000
ODZ2l R HIJIE AL
15,000, 000& *1JH A 15,000
O&FAC s=2ZHIA 100, 0003 *250m 25,000
03 Al&E 201 YI 3,636 2,880 756
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SN HEX
o (S K %A
Sl XA ENY (9 &9)
= - - HE!
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| | OANERHY 577,000,000 0.63/100 3,636
aX®H =AXNXNEH 23 71,500 65,000 6,500
FUXXHEH 23| 71,500 65,000 6,500
201 B2 | 52,000 46,000 6,000
01 At 2t 2|l 41,000 41,000 0
O XXHH 24| 400,000 «12& 4,800
OFVXXR HIlo HaLrg
50,0003 +x30H ~12& 18,000
OFANKAL AAISO B
50,0003 x30Y x4& 6,000
OFANKAY L2slo 2Wslo B
20,0003 +30H x12& 7,200
OFANZ MBS I8 AU
625,000& *82] 5,000
02 332Z 4l 1,000 5,000 4,000
OFQUXXIME HHAZHI 250,000& =42 1,000
03 A2 Z bl 10,000 0 10,000
OFUXXIAAE HHB A
10,000, 000& *13| 10,000
301 et A3 18,000 18,000 0
11 JIEtE &3 18,000 18,000 0
OF QMK ME LASG
300,000& x5t =+12& 18,000
405 KH&HF SHI 1,500 1,000 500
01 UH&LE2SFHSHI 1,500 1,000 500
OFURXIME I Poi(oI9)
1,500, 000& 104 1,500
X #dZ2AZH| 138,958 132,595 6,363
Jl23 4l 138,958 132,595 6,363
AU 2A | 134,758 132,595 2,163
201 LBt2HH| 78,580 69,830 8,750
01 At &t 2| bl 42,060 33,310 8,750
OgetEH| 14,260
Oeldig ¥ RelsE M= 300,000& *43| 1,200
OoM4Z 2 &I S ME 70,000& 203 1,400
Og=9 o 2ve M= 50,000 *300H 1,500
oz & &I 2s= 13,0002 102+ 12& 1,560
O=ANEN L ASERE 29
200,000 x12& 2,400
Od&HEH AR5 7¢ 200,000& 123 2,400
OFII, P S 272 24|
200,000 x103| 2,000
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M HEXH

M. HSANH HY2IFH|
@2 Jl2&tl (&2 &)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
OR0oHH 44| 150,000& = 12& 1,800
ozgsY 15,360
ogad 60,0003 1 128 7,680
OMNE YAZ2Y 20,0003 *1H 246 4,920
OXNEHIAXN 22E 60,000& *1H 46 2,760
O3] 8,000& x 13 x60 6,240
ogxs 1,200
OFLI Az L AIZ 22/ (HA
50,000& *2CH x12& 1,200
Os=2=Z Ei=J1Hel =221 2¢
2,500& *2,000H 5,000
02 =294l 36,520 36,520 0
02222 2 JlMdz1ns(2lsa & 2535
AA LS 1,000,000& x12& 12,000
O " = Hl 1,100& *1,0004 *5& 5,500
OXt& o ery| 7,440
OxgsasU 1,500 x140¢ =20 =128 5,040
OXNEHEBISAE ¥ A2SH|
300,000& *2CH x4 3] 2,400
O A& &Hl S Xl 1,000,000& 63| 6,000
OFAN ¥ X332 33X E2xsA
13,0002 *30E *23| 780
oREE L5223 400,000& 128 4,800
202 04| 32,838 33,845 A 1,007
01 2LHOHI 1,950 2,957 A 1,007
oO2A=&0 | 50,000& *13H *33] 1,950
02 EAHNYI 30,888 30,888 0
O2 ¥ bl 30,888
(OPIE= 138,000& *13H x12& 21,528
OJbAH 60,0003 *13H x12& 9,360
203 YR =&H| 10,840 10,120 720
01 J|2A2HLRE=XH| 6,600 6,600 0
OJ|&H2dHdRF&AY| 6,600,000& x1H 6,600
02 HRJAHE R =XY| 640 520 120
OFIAINNMAR Y| 40,000& *16H 640
04 ENSIIRE=XY| 3,600 3,000 600
ORANSIELERF=AH| 300,000& x12& 3,600
204 X2 4 A Y| 6,000 4,800 1,200
01 S HR-HAY| 2,400 2,400 0
OXNMBULLHHHI(HE) 150,000& = 12& 1,800
OXNHZLRLHHY (EHE) 50,0008 +12& 600
03 S8YRZEHI 3,600 2,400 1,200
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N = 0l & At & Ml A

A LB JIEISEA A, SIIE S8 &2 8 ~ E83S

20184

H
r
=
F
I
r

for

2H: B0
Za: HOIS ALY
Sl FOIMBEY g4 (B9 ®R)

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
0l 836,482 806,041 30,441
Z0IH At ZHI 698,174 687,086 11,088
=olMEEe gt 543,884 533,586 10,298
TE2H 222 27,322 48,326 A 21,004
101 @14 dl 14,322 12,326 1,996
04 JI2ZtHZ22HEE =+ 14,322 12,326 1,996
OE2H M= ¥ JIZ23EH, S4Z 2el 98
& 71,6083 x10H 20 14,322
206 M= Hl 13,000 36,000 A 23,000
01 M2 4l 13,000 36,000 A 23,000
022 & JIZ2sH 248 =stF 2¢
500& *20,0002 10,000
otHls & dols 4357 1,000, 000& *12] 1,000
OZ&d & sS¢=z2 2l 1,000, 000& *23| 2,000
HZe 32 2,380 2,380 0
201 ¢er24] 2,380 2,380 0
01 At 2t 2/l 1,600 1,600 0
OAIX HAE2F FE 100,000& * 103l 1,000
oMl 2S¥EI B8 & =9 MH
200,000 *3H & 600
02 232gHl 780 780 0
OFM, =Xz&t Hatx =H
13,000& *60E * 12| 780
ABIDIBEAIE H A 508,182 482,880 25,302
401 A& HIZ 2018 508,182 482,880 25,302
01 A& HI 505,000 480,000 25,000
odo1el sZ2EE L =2 ZHHISA
100, 000& *200m 20,000
O&d22el s2EE & =2 HHIZA
100, 000& *200m 20,000
Ootdel S22 ZHI S A 100, 000& *200m 20,000
Osdte] sZTEEIA L B2 EHEISB A
100, 000& *200m 20,000
otz s2Z& E =2 HHISA
100, 000& *200m 20,000
Okt s2EE E =2 HHISA
100, 000& *200m 20,000
o s=2Zd « =2 HUHISA
100, 000& *200m 20,000
O s2TEE L =2 HHISA
100, 000& *200m 20,000
Ootde s2EE E =2 HHIS A
100, 000& *200m 20,000
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SN 0o
o 0 A

Chel: FOIMEBEO & CER-ED
5 - 4
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
otdel s2EE Z =2 FHIS A
100, 000& *200m 20,000
oS s2EE 2 =2 FHISA
100, 000& *200m 20,000
OS4el s2EHE  His=2 FHISA
100, 000& *200m 20,000
O=Yel s2EE L =2 FHIS A
100, 000& *200m 20,000
OAt2tel s2EE 2 =2 FHIS A
100, 000& *200m 20,000
ot24el s2ZF Y =2 FHI S A
100, 000& *200m 20,000
OH0tel s2EE Z =2 FHIS A
100, 000& *200m 20,000
OUANE s2EE L =2 FHIS A
100, 000& *200m 20,000
ORE2 s2EE L =2 FHISA
100, 000& *200m 20,000
osdel s2EE Z =2 FHISA
100, 000& *200m 20,000
Osdtel otA2 IMLI1Z AL 100,000 *200m 20,000
O&22el 0tAZ2 NI B AL
100, 000& *200m 20,000
Olxecl =2 ZHISA 100, 000& *300m 30,000
Odtdel =2 HHISA 100, 000& *250m 25,000
OdlAlel =2 ZHISA 100, 000& *300m 30,000
03 Al 20 HI 3,182 2,880 302
OAIE S THHI 505,000, 000& *0.63/100 3,182
HES FAEE =4 6,000 0 6,000
401 Al& Bl 28I 6,000 0 6,000
01 A& HI 6,000 0 6,000
OFDIY M HESE KA ES
6,000,000 14! 6,000
A2 E| 5,000 6,750 21,750
e84 SZFH A2 S 2,000 0 2,000
201 Let24dH] 2,000 0 2,000
03 A2 S HI 2,000 0 2,000
os=sd 2 =M 2,000,000* 13| 2,000
SHH 2 AMEDR GHXOl A2 3,000 0 3,000
201 LB-2dH| 3,000 0 3,000
03 A2 Z Hl 3,000 0 3,000
OS3tH & AEI|A L0l B A
3,000,000* 13| 3,000
A& 24 70,030 62,490 7,540
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2 H01H
I FOIY ALY
ool I 2 CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
sclerEsgs A 65,830 62,490 3,340
301 LBt A= 65,830 62,490 3,340
05 S& -01& -BtEEsEAZ 62,590 62,490 100
(OIIRSE==y 200,000 x18H x12& 43,200
OO0 HZ &AL 20,0003 x18H x23| x12& 8,640
O0HANH= 200,000 x18H »23] 7,200
OBt& =& 50,000& *71H 3,550
11 JIEtE A& =2 3,240 0 3,240
O0ESd SMR= 15,0002 18 x12& 3,240
FOEHAH AN 2H 4,200 0 4,200
201 Bt 4,200 0 4,200
01 AP 22| H| 4,200 0 4,200
OXNHZ o FA 70,0002 *30H x23| 4,200
HOlH FOXXHMEH 299 79,260 79,260 0
FOIXXAEH 2HH| 79,260 79,260 0
201 LBt 61,260 61,260 0
01 AP 22| H| 52,000 52,000 0
© FLUXNXME SHH| 400,000 x12& 4,800
O 9% 31,200
OFQRIAA HIIslo BA &g
50,000& «30H x123] 18,000
OFUNXIR YAEIO BA £
50,0008 30 x4 & 6,000
ORI, 2Balo B 4+
20,0002 *30 x12& 7,200
OF0I XX EH3E 9 22U
1,300,000 *123/+400, 000 16,000
02 2=2=22%H| 5,760 5,760 0
O FOIXXHMME HMIRI(HLHY LS
300,000& x12& 3,600
© JIEt 2222 (&g, olgq Ax)| , Bots)
2 XAl 180,000& »12& 2,160
03 A2 G| 3,500 3,500 0
O JI=3S<3 A 3,500,000 13| 3,500
301 et A= 18,000 18,000 0
11 JIEtE A2 18,000 18,000 0
OFUNKME 2Y LA+
300,000 51t S *12& 18,000
HOH HAE2HAH 138,308 118,955 19,353
HOIH I3 138,308 118,955 19,353
QBIRAY| 138,308 118,955 19,353
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SN HOle

Hu: MOIM ¥R2YHY)
S H0|IH J|=2&84l (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
201 Bt A | 84,550 69, 190 15,360
01 AP 2t 2l Yl 47,060 31,700 15,360
OB1OAM ¥ Xzsol 5,000& 1002 x2E *x23] 2,000
ojREFREE 13,0003 x102*12& 1,560
OQIJo =& & &XF2 50,000%12& 600
(OF=ZESE:] 60,000& *1H 128 7,680
oMESHIAZRASE 60,000& x46 2,760
OGS 2E2E LY 20,0003 * 1Y 246 4,920
O3l 8,000& x13H x60 6,240
OAZ & AN M& 70,000& *203] 1,400
OSP4 U AT HEDY
50,000& *300H 1,500
OXMEH A2 P& 300,000& x12& 3,600
OJ7, Il A2 =&Hl 200,000& 128 2,400
O=SAMEXN L MR2ES 2+ 200,000& *12& 2,400
oYXz (otd=4d Mol ESHH|)
1,000,000& x103] 10,000
02 35244l 37,490 37,490 0
osEEYsH 400,000& 128 4,800
odIIe= 1,000,000& x12& 12,000
OXg L A& 23 150,000& = 12& 1,800
O A RoEH 849= 150,000& *12& 1,800
O&IIAAME 50,000& *3CH*x13] 150
(@FE=3s] 1,100& *1,000¢ =5& 5,500
O A& &Hl S X 1,000,000& x4 3] 4,000
OpF=Fal=las] 7,440
OXegE=FH 1,500& x 1400 *2CH*12& 5,040
OXNEFHHSAH € AREH|
300, 0003 *2CH x43] 2,400
202 (4] 32,838 33,845 A 1,007
01 2L Y] 1,950 2,957 A 1,007
O&A&H 0 50,000& *13H *33] 1,950
02 MY 30,888 30,888 0
OE ¥l 30,888
oPlE= 138,000& *13H x12& 21,528
OJFAk 60,0003 *13H x12& 9,360
203 AR E= Yl 10,920 10, 120 800
01 J|22H L R=AH| 6,600 6,600 0
OJ|H#2I IR 6,600,000& x1H 6,600
02 RN R =X H| 720 520 200
OFJAINNME RF=AH| 40,000 =184 720
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= o
N & o & AF & H Al A
2018 & =20l LBHSIH L IIEISESIH, IS8 895 ~ R3S
SN pE
M M ALY
el EOIMEHO A CEEEED
L=
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
HEd 1,020,909 1,099,996 AT79,087
HEH AL ZHI 875,147 945,911 AT0,764
=olMEEe gt 120,330 75,121 45,209
TE2H 222 35,161 19,163 15,998
101 @14 dl 7,161 6,163 998
4 D12t ZE2XREES 7,161 6,163 998
O Zs4h 22l o2 71,6083 x5 20 7,161
206 M= Hl 28,000 13,000 15,000
01 24l 28,000 13,000 15,000
O£ % I 28 =HFFLY
500& *20,000= 10,000
otz & daiss37e 1,000, 000& *33| 3,000
otge 2= ¢ 2,000& x7,500=2 15,000
FZs a3 2e 85,169 55,958 29,211
101 14l 80,869 51,978 28,891
04 JI12ZtHZ22 a2+ 80,869 51,978 28,891
OE2H % JIZstE M=&Y o2
71,6082 x10H «30 21,483
0004, 28 SHE HERY o
71,6082 x10H «30 21,483
ONGUSH B2l L MEDY 012
71,6082 x15H «10 10,742
O=&X =8¢ M=&g, == & HZ0U MA
Dol ol 71,6082 %1028 %10 7,161
OJtZ2sttt, S&2 HHl URY
71,608 «10H 2821 -51,000& 20,000
201 LBt 300 780 A 480
02 2324l 300 780 A 480
osszaa Hatx +=HY|
15,000& *20ton* 13| 300
206 M= Hl 4,000 3,200 800
01 =8l 4,000 3,200 800
OAIJIA & 2SS HAES 7Y
250,000& »4H 2 +43 4,000
A2 FOU=JAAY XA 558,447 655,880 A97,433
0ISE =AY 558,447 655,880 A97,433
401 Al & HI & 28I 558,447 655,880 A97,433
01 Al& bl 555,000 653,000 98,000
Od4&Hel OtAR IMRI] A
50, 000& *400m 20,000




SN SE
Ha: HEQ AL
@ ARe FoU=FAMY X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Od4&2el OtAZ TAMRI| A
50, 000& *500m 25,000
O43dtel oSt ZEIAL 50, 000& *300m 15,000
OS2l B2 FHIBA 50,0002 *400n 20,000
os=1el 022 TZTA 50,0009 *500m 25,000
O2=22 H4AZ FHISA L 01SUY BHB
A 100, 0002 *300m 30,000
OXiiel Eti==2 ZHI S A 50, 000& *500m 25,000
OXHzel == ZHISA 50, 000& *500m 25,000
OsAtel =2 HHIZA 50, 000& *500m 25,000
OUXlel th+=2 ZHISA 50, 000& *400m 20,000
oss1cl Oi=Z Z2F L =2 ZHISA
100, 000& *250m 25,000
ods2el =2 HHISA 50,000%500m 25,000
Os&1el =2 ZHISA 50,000& *500m 25,000
O&st2el Eti+=2 U S A 50, 000& *400m 20,000
o=zl =22 ¥ == ZHISAM
100, 000& *250m 25,000
O=s2c| 0t=etd ZEZ A 100,000 «250m 25,000
OAII A2l OtABHM I ZEH S A
50, 000& *500m 25,000
OHAOIO| CHLY A2 M=
25,000,000 =14 25,000
O=s1el Z22F dASA(LEUR B5=)
10,000, 000& 12X 10,000
oOzscl s2 T34 50,000 *600m 30,000
O=s1cl NISAULEZ S IA
50, 000& *600m 30,000
Odotel s2 ZEISA 50, 000& *200m 10,000
ouxiel s2 ZEIA 50, 000& *200m 10,000
Od41el otMH2E XIS A 100,000& *100m 10,000
Odstel sIIH Y2 ZEHIA
50, 000& *400m 20,000
Oda2el 224E EXSA
10,000,000& *1JH £ 10,000
03 Al 2 THHI 3,447 2,880 567
OAIE S THHI 547,000,000& *0.63/100 3,447
SHAL2t 2] 49,000 56,100 AT7,100
AALES XI& 49,000 56,100 A7,100
201 £B-2%H| 49,000 54,000 A5,000
01 At 22l 5,000 10,000 A5,000
ON18al HEXEe) AUE=HN 2253 M
5,000,000& =13l 5,000
03 A2 Z Hl 44,000 44,000 0
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SN pE
M oEO AR
Sl A2 (S &2)
= - — L=
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
©Ot0l & GHH SOl & At 9,000,000 * 14 2 9,000
OM18al HE XL A== H
30,000,000& x13] 30,000
OHAEXH HOSE LHAE  5,000,000& 12 5,000
HEX R 29 67,270 60,510 6,760
sclgEas I 63,070 60,510 2,560
301 et Az 63,070 60,510 2,560
05 8% -0 -tHESEHS 63,070 60,510 2,560
Oo0l&+¢ 200,000& *17H«12& 40,800
O0ZEANHS 200,000& 174 %23 6,800
OO0l &3 &A= 20,0003 «17F #2353« 128 8,160
Ot =4 50,0003 x85% x13] 4,250
OO0l sd 23 XA 15,000 *17H 128 3,060
FUHOMU A2 4,200 0 4,200
201 Let249] 4,200 0 4,200
01 At 22/l 4,200 0 4,200
OX93lo A 70,0003 30 *23| 4,200
HEH FOUNXIMEH 2 58,140 58,300 A 160
FURNXAE 29 58,140 58,300 A 160
201 Let249] 35,100 39,800 24,700
01 At 22l 30,900 35,600 A4,700
OFOURAAY HII5l0 BaLg
50,0003 30 123 18,000
OFURISAA LAISIS BH2g
50,0003 30«38 4,500
OYRZo, T3l EFHY
20,0003 x30H 6 3,600
OFQUXXHE 224l 400,000& x12& 4,800
02 2324l 4,200 4,200 0
02222 ¥ AMERXI 350,000& 1228 4,200
301 LB A Z 23,040 18,000 5,040
1MIIEESS 23,040 18,000 5,040
OFUXXIHE 2A=&
480,000 x4t =128 23,040
HES XNIAMEHEAA 2 1,960 0 1,960
ANAMEHE2AM 23 1,960 0 1,960
201 et 1,960 0 1,960
01 At 22l 1,960 0 1,960
OXNYGAZEZEAN F& 3o A&+
70,0003 +7H x43] 1,960
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[l

SN HE
M oEO AR

S MR 22 (22 &d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
EAMRX 2e 20,000 0 20,000
HEse FAEE =4 20,000 0 20,000

401 AIEHIZ 2 I 20,000 0 20,000
01 A€ dl 20,000 0 20,000
OHEAL E11 EXISAM 10,000,000& »2& 20,000
HEs A2 145,762 154,085 A8,323
=23l 145,762 154,085 A8,323
2et=gl 145,762 154,085 A8,323
201 LBt2 96,004 73,520 22,484
01 At 22l bl 48,324 37,660 10,664
odzr=g 13,000 x 1082+ 12& 1,560
OUME L RAS HHH
5,000& 100 x2E +23] 2,000
OZ=+Jl gX&z 50,0003 x4CH 123 2,400
Ozta 4 Hio gxz 23,0003 »4CHx12& 1,104
OFANRAZH SHH| 190,000& =122 2,280
o4& L oI M 100,000& 200K 2,000
O g A H| 60,000 x 12 x 124 7,440
OMEH &2 =€ 60,0003 »1H x462 2,760
oNEHgH2Z R 20,0003 x1H «2502 5,000
O= &l 8,000 x13F 70 7,280
OMoll== ¥ AL RA 28 FH gx=
550,000& x6& 3,300
O8+% & 2% MH F& 55,0002 4004 2,200
OXH&MFH A2F 7Y 350,000 =12& 4,200
OSAMEX E ARES 78 400,000& 123 4,800
02 S2=24Hl 47,680 35,860 11,820
OMIIQSB(EAM, EXFZ, ANESE, 35
Shata) 2,000,000 =128 24,000
oEs €& 2= 300,000& =122 3,600
Od3 & otk l= 150,000& = 12& 1,800
OFA HIjetE 22U Edl
143,000 = 12& 1,716
OFA xotA 2| SAH| 132,000& 122 1,584
OFIMN sZI RANE+ 4l
165,000& ~12& 1,980
OXt& & gyl 9,000
Oxgr=H 1,500& «1508 *2CH*128 5,400
OXgdHl R & 4234
300,000& »3CH *43] 3,600
OA &£ &Hl 7 X H 1,000, 000& *43] 4,000
202 o4 4 32,838 33,845 A 1,007
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N & 0

& AR E A A

2018 & =20l LBHSIH L IIEISESIH, IS8 895 ~ R3S
SN s
M =40 A Z Y|
SR FUHEAAL 4 (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
=4d 1,335,935 805,455 530,480
=40 AHZ ZHI 1,178,871 670,707 508, 164
FOHOAY ghat 959,530 458,222 501,308
AE FUMEHUAY 930,828 435,096 495,732
401 Al Bl 28I 930,828 435,096 495,732
01 A& HI 925,000 432,000 493,000
oZstel orsetd & 2 Et+=2 FHISA
100, 000& *220m 22,000
oZ&cel OiSd 2 2 MAEZH A
100, 000& *220m 22,000
OLtdtel OS2t 28 2 S22 U SA
100, 000& *220m 22,000
oWl 0120 EH U B2 FUIBA
100, 000& *220m 22,000
O=1c| otSetZ T L NMEZH SA
100, 000& *220m 22,000
O=2c| OtSetZ 2 L NEZH SA
100, 000& *220m 22,000
Ozt AL 2,000,000& =574 2~ 10,000
O=saiel 0t2td I 2 S22 ZHI3A
100, 000-& *220m 22,000
O=a2e 0t2td I 2 S22 ZHI3A
100, 000-& *220m 22,000
O=23c2 02t 2 2 Sth+== HUHISA
100, 000-& *220m 22,000
od=1el o2ty T Y MAEEH SA
100, 000-& *220m 22,000
o452 ot2td T Y MAEEH SA
100, 000& *220m 22,000
Ootztel oStz Z& o Et+2 FHHIZA
100, 000& *220m 22,000
OYzel oisetzd T 2 =2 FHIZA
100, 000-& *220m 22,000
O=4dd B2 R E=3A
100,000& *160m 16,000
O=2s1el 0t2¢d I 2 Si+=2 ZHI3A
100, 000& *220m 22,000
O=2s2e 0t2d I 2 S22 ZHI3A
100, 000& *220m 22,000
ozgel ot2otd ZTE Y M EZU S A
100, 000& *220m 22,000
ozgzel ot2otd ZTE Y MAE U S A
100, 000& *220m 22,000
OF=4&H 2ot EXE A (=2 E00LH)
15,000,000& «2H 2~ 30,000
O=sAa1el =2 EHHISA 100, 000& *400m 40,000
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N = 0l & At & Ml A

2018 & =20l LBHSIH L IIEISESIH, IS8 895 ~ R3S
SN a8
M =40 AYE
ol EOIBMOAIL B4 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O=1el == HHIZA 100, 000& *300m 30,000
osiel Ot A2 HHISA
100, 000& *300m 30,000
OsY2e] R E2ZAH(U=JA )
100, 000& *200m 20,000
Od=1cel == HHISA 300,000 =100m 30,000
O&=12l OtAE IMNRI| B A
100, 000& *300m 30,000
O&d=22 == EHHISA 100, 000& *300m 30,000
OZdtel s2ZE S At 100, 000& *300m 30,000
OZd 22l Y7 ASE2 FHISA
100, 000& *200m 20,000
OZstel =2 HHIZA 100, 000& *400m 40,000
O=2cl =2 HEAE 150, 000& *200m 30,000
oLtdtel B2 S At 100, 0002 *200m 20,000
O=232 Eti==2 A 100, 000 & *300m 30,000
oZ&el Eti+==2 S At 100, 000& *300m 30,000
O=sa1el OtAZ EZEHIA 100, 000 & *300m 30,000
OZdtel Z2E HXIS A 10,000,000 « 100 £ 10,000
owAe] E2AF(S0I0IS)EX3AM
10,000,000& *1JH £ 10,000
o=Yg2el S22 3 M 100, 000& *200m 20,000
O=21cl EtH=Z 3 At 100,000& *150m 15,000
03 A& 2 THHI 5,828 3,096 2,732
FU=JAAMY 925,000,000& *0.63/100 5,828
S22 H=x= Y IJt23E 2el 2Ry 24,902 19,326 5,576
101 1244 Hl 17,902 12,326 5,576
04 D122 2XREES 17,902 12,326 5,576
OE2HY M= ¥ JIZ2stH, S4E 2202
71,6083 10 25 17,902
206 M= Hl 7,000 7,000 0
01 =4l 7,000 7,000 0
OE=2Y & AJHX Jt23tE x3t7 FHI|
500& 10,0002 5,000
OE2Y & AJIX S#HFSEF 7
200,000& =103l 2,000
Slz2 & 23 RAEs 1,800 1,800 0
201 €24l 1,800 1,800 0
02 =224l 1,800 1,800 0
O=Xs2 2 (223 SIAMERX
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